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WARNING

ENTRAPMENT AND FALL HAZARD

Gaps in and around this product can entrap and kill. People with Alzheimer�s disease or dementia, or those who
are sedated, confused, or frail, are at increased risk of entrapment. People attempting to climb over this product
are at increased risk of injury or death from falls. Always make sure this product is properly secured to bed. If
product can move away from bed or mattress, it can lead to entrapment and death.

WARNING
SUFFOCATION AND STRANGULATION HAZARD

Gaps in and around this product can entrap and kill. People with Alzheimer�s disease or dementia, or those who
are sedated, confused, or frail, are at increased risk of entrapment.

· NEVER use unless product is tight against mattress, without gaps, and at least 12 � � from headboard and
footboard.

· NEVER use with children.
· NEVER use on toddler, bunk, water, or inflatable beds



5800 Stable Rail V 1.0

Assembly & Installation
Instructions

1. Remove all parts from the box and become familiar
with the parts as shown in Figure 1.

FIGURE 1

2. Connect Base Tubes together as shown in Figure 2.

NOTE:  Safety Strap is not shown for clarity.

FIGURE 2

3. Attach Base Tubes into the Base Support Tubes as
shown in Figure 3. Make sure the Spring Pins
engage the hole in the Base Support Tubes.

NOTE:  Safety Strap is not shown in Figure 3 for
clarity purposes.

FIGURE 3

4. Adjusting height of Main Handle :
As shown in Figure 4, the height of the handle can
be adjusted up or down by first, loosening the
Collets by rotating them counter clockwise. Adjust
the handle to the desired height and insert the
Plastic Clips. After adjusting the Main Handle to the
desired height, tighten Collets by rotating clockwise.

5. Adjusting height of Main Handle Legs:
As shown in Figure 4, the Main Handle Adjustment
Legs can be adjusted up or down to engage the floor
by depressing the spring pins so the legs can move
up or down to the desired height.

FIGURE 4


